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a) Attempt All the Questions
b) No Calculator is allowed

Q.No. | Details =3 j __ ;]_M_:_\rks| co _'_lfl'l;()

.Q-l The figure shown is an examy = ! ~diagram

L Attempt All the Questions( | 1 irks each) B - 4 |
- . €02

.............

|

A. class '
| |
B. use case |
C. data dictionary ‘
D. none of the mentioned |

Q.2<‘—he figure shown is an exum; : diagram CO3 | BTLO3




'__.
Q.4

Q.5

| Termination

state |
sequence ‘
use case ‘
. classs

On0wpx

| If two object receives events at same time without interaang then 11?3;;1-@ o -

| inherent. .
. A. True |
' B. False
1
|
| A. Identify Conceptual Classes
| B. Identify Actions

C. Identify Attributes
| D. Identify Datatypes

—e

. B |
| What does a message mean in sequence diagram? ‘
. A. It Passes all communications from one object to another and are represented |

by message arrows in sequence diagrams |
‘ B. Te message goes from the sending object’s lifeline to th. receiving object’s
lifeline only |

“The first step of domain analysisis B - _}—___

Co4

Cg

BTLO4



C. Itisarectangle contai no an identifier with a dashed line extending below
. the rectangle
. D. All mentioned

Q6 | Which of the following Combines 1wo concurrent activities and re-introduces them
- to a flow where only one activ iy can be performed at a time?

€02  BTLO2

A. Joint symbol
' B. Fork symbol .
| C. Note symbol '
| D. Decision symbol |

Q

‘7| We need not implement two « -y stem that are inherently concurrent as separate

C03  BTLO3
' ' H/W units.

A. True : : .
B. False

|

- Q8 | How many steps are there in ¢omain state model? o N | cos4 | BTLO4
' |
A S |
|

[

| |
|

B4 |
C6 |

( | D. 7 |
, |

I |

|

There can be multiple starts 1+ 1w tivity diagram. CO5 | BTLOS

A. True |
[ B. False

Q.10 | The concepts of diagrams anc 5«5 are intrinsically linked with each other and
l form the foundation of object  +ciied paradigm.

A. True
B. False

CO5 | BTLOS

Q.11 €02 | BTLOS

A. True
B. False

|

|

|

|

N |

First step in system desic -+ 10 divide the system into pieces [
|

|

|

[

J

|

| R -

m.lz Sequence diagram have sonic . [erent purpose as compared to which of the
|

C02 | BTLO3
[ following diagram? |

1
A. Class Diagram ‘ |
B. Use case '
C. Interaction l

' D. None mentioned '

B B L — SR — — l —_— _—
Q.13 The figure shown represents+ 1 relation in state chart diagram? ' CO3  BTLO3
|

|



StateB StateC

Y

\ StateA )

. Join

Fork

. Inheritance
Generalization

Q.14  We use a solid arrow to represent the

another.
)

J

of contro! 1 m one state to

-

Event

|
| Statel

transition
event
state

. relation

oOwp

CO03 | BTLO3

-
{ \

Q.15  The symbol shown in the figure represents i
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|

|
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|
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|
|
I
|
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A. Destroy

B. End

C. Break

D. None of the mentioned

Q.16

_ Modeling Technique

"OMT stands for

Q17 The figure shown is __t:i;l"l.'l-ﬂ. leof :_ B ___diagr.on

couence diagram.

oz  BTLO2 '
!

|
|
|
|




Q.18

Q.19

Q¢.20

‘21

A. Use Case
B. Activity
C. State

D. Sequence

The first object—oriented Lo

A True
B. Talse
An s aspecibicatn

and space

A. Event
B. State
C. Machine
D. Sequence

- What type of core-relation.

|
|

‘ . Aggregation
Dependency
Generalization
None of the mueion

0w

"The “diagrai .
termed as an event diag
A. Sequence

B. Activity

C. State

D. Use casc

corner

What is a lifeline in scouonc

A, ltisaframe conasy

¥

Covas C++ that was devel&ped in 1960. C04 BTLO1
nificant occurrence that has a location in time C04 BTLO1

-1 resented by the symbol in the figure below? €05 BTLO2
~the flow of messages in the system and is also €05 BTLO4
- - CO5 BTLO4

m.

' rectangle with a pentagon in its upper left-hand




B. Itisarectangle containing an identifier with a da-/ sxtending below | :

the rectangle . | I
C. Itis a name compartment; the interaction is represc 1o side the ' !
rectangle
D. None of the mentioned

| . - . = o Co2 | BT
Q23 ) is represented by a thin rectangle on the lifc! © cquer e diagram. €Oz | 'BTLO4

|
|
. ' | |
LifeLine |
| I
|

.y o | 4
Q24 | [dentifying Actions are part of domain class model. i Co1 | BILO4
A True | |
B. False | |
I R o o |
Q.25 A solid arrow pointing back to the state itself to represent ~ instate | CO1  BTLO4

. |
chart diagram.

StateA  |«— | '

self transition
loop ‘ '
self message | .
self loop -

o0 w>

Q.26  In domain the emphasis is on kg};’_concept and dev)

| and not the users view of them

wral relationships | co1 | B

A. Analysis . |
B. Class Model ' |
- C. State Model ' | |
D. Interaction Model r '

. Q27 | '_I‘Fc_symhol sh()-\fvn_rcgrcscnls start in 11

Vit dingram. | co2 | BTLOY




“sar S
end

decision

None of the moe 11 |

| | J— . .
"Some Domain obj octod dict] o e <t — 1 4 BTLO4
028 | Some Domain objects | ass  oueh connected distinet states and each state has | €O

different constraints and \ ation or multiplicities.

o 0w

A. True

B. False .
|— e : ) S —— T €06 | BTLOA
Q29 | The symbol shown in 1 ¢ | ropresents in a sequence diagram

Self-message

Loop Messuge .
Recursive Mess e
All mentioned

# ‘ R
Qa3 ivities. CO6  BTLO4
| Q.30 | A ~diagr o oosist of states, events and activities. |

"The state diagram. o0 states that object can assume and their ~ T C06  BTLO4
Q.31 | The state diagram de b - vorious states that object can assume and their |

properties and Constrots 10 ] and the events take in each state

[ S ] N
Q32 T What type of relation-| ;= resented by Shape class and Square Co1 BTLOI

cnws

| - ~ape Class
|
| ' o
VAL
| | o \
Tnanc = Square
|
| A. Realization |
B. Generalizatic
| C. Aggregation
. D. Dependency |
M ras 19 o T _ T
Q.33 | The first step of doma ¢ coelas | CO4+  BTLO4

S N



A. Find classes ;
B. Prepare a data dictionary |
C. Find associations |
D. Find attributes of objects and links :

- . : - . |' "BTL
Q34 The second step of domain class model is | Co4 | BTLO4
|
A. Find classes I
B. Prepare a data dictionary
C. Find associations '
D. Organize and simplify classes using inheritance J |
the sequence dia , R | €CO3 | BTLOS

A. Lifeline

B. Activation

C. Message

D. All mentioned

|
S S B |
Q36 Finding attributes of objects and links are part of the domain ar <is model. | CO3 ' BTLOS
_ |
A. True | |
B. False | |
N | S 1 |
Q37  To design an algorithm you have to: | C03 | BTLOS
A. Choose algorithms that minimize the cost of implemcrt - peations , |
B. Select data structures appropriate to the algorithms |
C. Assign operations to appropriate classes |
D. All mentioned | I
Q38  Domain class model the static structure of real world systei. o I co4 | BTLO1
|
A. True e
B. False | u

. ; I
Q39  What is a sequence diagram? Co4  BTLOL

A. A diagram that shows interacting individuals along '« o the diagram !

and messages passed among them arranged in tempo w1 down the '

page '
B. A diagram that shows messages superimposed on a1 /1, vodenieting |

collaborating individuals and the links among them |
C. A diagram that shows the change of an individual’s | Thme ! '
D. All mentioned ' e

Q40 | While designing algorithms selecting data structure is not ivi 1o needed, .| cos BTLOI
' |

A True | \ |

B. False |
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